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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
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e9a3)ER 00t ?
DsOLBe:

1.Z=V-W

2.Z2xV=U
Read the following question and decide which of the given statements is/are sufficient to
answer the question.

If U, V and W are negative numbers, and Z is a number, then is Z positive?
Statements:

LZ=V-W
2. ZxV=U

Ans X1

) D DATEIOTE 1 Srgd DT 008, 900d 2 g DO,

1 alone is sufficient while 2 alone is not sufficient to answer the question.

< 2.
0F) 9 Darerdore 1 oBoiw 2 Boctr HOYEroD.

Both 1 and 2 are sufficient to answer the question

< 3.
09) D Darordor 1 o 2 20T 006,

Either 1 or 2 is sufficient to answer the question.

v

D) £ DAFTEIOTT 2 DoegD0 DB B00d, ond 1 07gdo DBI .

2 alone is sufficient while 1 alone is not sufficient to answer the question.

Q.2
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REOGIED 2 DIFO STCorT LSt 9 Dicsosn JochTocdk.

RAT : 18120 :: GOD :

Select the missing term based on the given related pair of terms.

RAT :18120:GOD :
Ans X 1. 7174
< 27144
< 37164
V4 7154

Q.3 30 D0EGRoS” K I5=I) B8 T JobEM JocEod.

2+5+[5+8+(1+3)-1] =2

Select the option that can replace the question mark (?) in the following equation.

2+5+[5+8+(1+43)-1] =2

Ans « 1 3

2

X2 2
X3l

2

X4.5

2

Q4 42 63 zpdosw 105 cag), ¢z (H.C.F):

The HCF of 42, 63 and 105 1s:
Ans  of 121
X 27
< 3. 63
< 4 630

Q5 2oH Pauriross’ Gond Do D JocnEod.

(\s ‘ 1 3

|X sy 2|2 s|4

| i B
A B C D

Select the figure that does NOT belong in the following group.

|5 4 1 3
|%a HEOD
| 5
A B C D
Ans X 1.C

V2B
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X3 A
< 4D

Q.6 X D5y arbie, Y X e a8 Y 89 o JBE EDELA HATHDED” 9D a’b_)x)&mﬂ,
5 Y Sog, X 0108,

If pointing at X, Y says that X is the son of the only son of Y’s mother, then Y’s father is
X's

Ans [l ]
¥V &¥
Grandfather
< 2. c

Father
s AT

Father-in-law
x4 P D
Brother

Q7 HoaTe oay 17 6 (o) 208 SnTregan:

An element with an atomic number of 17 is:

Ans X1 20& =roiries €575
an alkali metal

208 PO A 75w
x 2. J
a transition metal

v 208 S BD TroinD
3.
a halogen gas

2058 (DD TPl

a rare gas

X 4

Q8 dND DIFO LY, 2O OANDEROD 26D JotvEod.

die: wg-DTron (TR0 QT Tin)

Select the pair that is analogous to the given pair of words.
Lawyer : Cross-examine
Ans 2d0: B3

<L
Army : Gun
Tegomo: Kjﬂ5ﬂm.ﬁ°ém
< 2. @
TJustice : Court
P Derces

¥ &)
Police : Interrogate

0bg: dvrsre)
< 4
Exam : College

Q.9 ]
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?osa‘)ocﬁ i::dsu apr‘.’)aw“'sbé w(_ﬁ§®, sudatn 2860 cﬂ:us‘,zy Hohaw Soboin
RaDEVOIBD DB 0.

The is responsible for precision of voluntary actions and for maintaining the
posture and balance of the body.

Ans SDEFROEED (DOE-EI00R)
X1

Mid-brain

DY A (Do) 525

s 5, D0 (R )

Spinal cord

s DEDESCD (2Be0)

Cerebrum

W 20D (b0

v Al ( o)

Cerebellum

Q.10 15 35" rave Gagoe? (10 R0 DV 4 ms™HE Sauenaed. & HREPD v
(19398 Joa?

An object of mass 15 kg is moving with a uniform velocity of 4ms~*. What is the kinetic
energy possessed by the object?

Ans 1.2 EE-“'{A‘JQ
<1

127

60 aZ“ﬁJa

5 2.

607

12 E\E'-“‘;Da

< 3
127

120 &0y
v 3
12071

Q.11 @dgEREH HELD D grdod HBCID F0d LOSFOS" IO IS RVHE

AgonocnSod.
Heed:
e :ao:ges" erTIo0y &0 adge 3% egam £0Ad
10 rhaner edfren Dodecheomr) o 6 DR X HSdodod.
90T
1. gl &8 edde Tobdart Srgad GO SR0HoEr®m.

2. 20y SDJIT® ST SoarRy SRoEDy

Consider the given statement to be true and decide which of the following assumptions
is/are implicit in the statement.

Statement:

Company X announced that in their company, 10 clerical jobs will be filled, with the
minimum eligibility criteria being bachelor’s degree pass.

Assumptions:

1. Only those who have passed the bachelor’s degree will apply.
2. Masters can also apply.

Ans
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esocdeT 1 s0fokin 2 Sodre K);‘o;)ofﬁzjﬁtn.

Both assumptions 1 and 2 are implicit.
€903 1 DrGRD DRYoBETROIO.

Only assumption 1 is implicit.
290033 2 APGRD DYOTTRONE.

Only assumption 2 is implicit.

1 S0 2 DNOBTRDB.
< 4

Either assumption 1 or 2 is implicit.

Q.12 56y 2018 S oty eS"Q €95y i}é& Fog?_.)éaé (CBFC) OCIFEIRNTP DD
DoDooDdegE ?

‘Who has been appointed as the Chairperson of the Central Board of Film Certification
(CBFC) as of March 2018?

Ans 203 LXIND
<L
Jaya Bachchan

v > R &
Prasoon Joshi
ESSTALR Y
Subhaash Ghai

£9:00a0 BO
< 4
Anupam Kher

5 3.

Q.13 @ HEtden Desjo @ grdodod BN HELD Wod @HE Snfosned’
DA ey ot bt Dgonood.

pERden:
ED) sorjoaren SonDen. ) Soden EoFTReD
Awhoyen:

1. S:)‘l SUITURED STUTRI0iomeD.

2. @a‘l SPOURI0ITeD STTPTRRD.

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
Some offices are companies. All companies are factories.

Conclusions:
1. Some factories are offices.
2. All offices are factories.

Ans x 1 0oy 1 Sor 2 IE 2,66 eaduhbinob.

Either conclusion 1 or 2 follows.
v SAfioa)) 1 i eoxubloed.
2.

Only conclusion 1 follows.

x swhoinen 1 S0doin 2 ot essuiinnod.
3.

Both conclusions 1 and 2 follow.
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x B0foRY 2 SR 9R0RBR008.
4.

Only conclusion 2 follows.

Q.14 ZoH Des 3635 D Do JocEod.

ORI

A B C D
Select the option that does NOT belong in the following figure series.

{ek<@{ (el |
A B C D
Ans Xl-D
< 2B
K3 C
v A

Q-15 2.8 DTS ammgaxg) 20 oD DD TocD Otw. e AT ammaann cﬁnéb
DO 392 SE0D) DO 00B, D I Jod?

The base of a parallelogram is twice its height. If the area is 392 sq.m, What is its the
height?

Ans X' 1.12m
< 228m
¥ 314m
< 424m

Q16 162, 54 000D 135 00E), (1.2

The HCF of 162, 54 and 135 is:
Ans X' 1 0
v 27
<33
F S|

Q.17
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QDD DTG BHH 6§ ADND BT 65 6° 250 ANE God. ¢ BT BEH
D0E?

D) eyB

DWW

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

%

Answer Figures

I DWW

C D

Ans Xl-A
X 2D
v:B
X 4aC

18 T E Bradapewn HIS® esotrom:

Pollen grains are found in:

Ans
. Ser

stigma
, Dea&Fren

ovules
e90CiBEDD)

| locule
v HO°HE TR

x

X 3

anthers

Q19 35a 7DD JrHodiol:
252 = [51- (27— (9- 8 F D} =2

Solve the following:
252 = [51-{27-(9-8 + N)}="
Ans  of 1.14
<27
< 318

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




X409

Q.20 A 20Bain B en @gitr £B2 28 DOD 35 Fexed® 10 AW, A 2000 HASDHLODB,
2265° § 0 g 3%, 200DD DD B 1 dabieio Foth HADDRD, 50 € 0D
210807 L8 Samcto 68 90 Faren Hod. @gos” odos Dod0goTe DD A 8, 2oogo

222 o dovco ot .:)::)‘lt‘f'wm DEIB0H?

A and B can complete a task together in 35 days. If A works alone and completes ; of the

task and then leaves the rest for B to complete by herself, it will take a total of 90 days to
complete the task. How many days would it take A, the more efficient among the duo, to
complete the entire work by herself?

Ans X145
v 42
< 348
< 440

Q.21 28 RN 5bﬂm°1 15 papew 2.8 FHI 12 Dawaree’ Jonresy). ead FHI d
HTFRaaNE Dodrmd3 28,56 0o .n:s:o.nnff €:5) 6 PEHOLD Jod DICLOW
SRothoenod?

15 pipes, each having the same diameter, can fill a cistern in 12 minutes. How long will it
take for 6 pipes, each with double the original diameter, to fill the same cistern at the same
speed of the flow?

Ans 12 Dawaren
<1

12 minutes

10 Dawaren

10 minutes

0.5 Davaren

0.5 minutes

7.5 Danaren

7.5 minutes

< 2.

&3

¥ &3

Q.22 28 worith DD DED wow e 100 g Grceier HWD FHorrod b,
SEDEDBID) FyOTTL 50D Difo 25 msTl e DED 08, esrboser 3"3@3&0 Does?

A boat at anchor is rocked by waves whose consecutive crests are 100 m apart. The wave
velocity of the moving crests is 25 ms~*. What is the frequency of rocking of the boat?

AnS  of 1 0.25 25 (Hz)
X 2. 625 °5(Hz)
X 3,100 2§ (Hz)
X 425 5(Hz)

Q23 %@%@ S0B0IL (B2 DVBORD PET° LI0LTH:

The sum of potential energy and kinetic energy is known as:

Ans Emé‘ﬁ,ﬁ
1. )
Electrical energy
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Orad 38
x 2. -
Chemical energy

5°0ed 35
3

| Light energy
oirogds 35
v

' Mechanical energy

Q.24 DSe DBBOES Sudatn e‘)ij).:)ag. Bt Soty ‘f.mﬂ?s.;jcca n)og‘_’g@_sw'a) oo énooe:)o(‘jf.)g
DS FES DODB?

The Union Environment Ministry has launched a pilot project for beach clean-up and
development named:

Ans é},ﬁ

‘Blue Flag

x “&5{5& Ao lL)
2. .
Swatch Bharat

85 6
3.

Green Flag
, 35 ooz

Clean India

~x

X

Q25 12°C 200800 DG DB aIvg) TAE 2D D2e?

What is the physical state of water at 12°C?

Ans eI DE (DEad Hdes)
X (Desogd

Tonic

a0
Solid

Hado
Liquid

Falenih]
< 4
Gas

52

W3

Q.26 ey 6 (otorr DB DI 52 4 HA DATW 2.8 Hesth Sorben Dovz=dy 21 Feveres
SIP0 SODAOW. 2.EDY T 2008 DT Ferh 4 ot 500D DI B3 98 DI T
DY Bevered” 318 Sonrfentderm?

4 workers working 6 hours per day can finish painting a wall in 21 days. If 7 workers
work for 4 hours per day. in how many days will they be able to finish the same work?

Ans X 1 78
< 232
<324
W18
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Q27 FSF0F0 TI0E); DIPE0Y BN QO® 0ETD:

The rate of change of displacement is called:

A
ns X . Ak
Speed
Jea0
X 2 e

Acceleration

&
<3 ©

Distance
o

4.
Velocity

Q.28 Zod Ao 030E), 7P Peod” PO VBTFAD JoDER JocEodt.

Select the option that will correctly fit in the blank space of the following figure.

Ans

b

X 3.

<A

29 2.8 280 BE aened, PUZZLING 2 ZZPUGNIL 17 s08ain JIPITAPA O IPITAPAT
Qer
TPO0RDBE0D, RO SWIZZLED S e0d 6 &° groneld edey?

If in a certain code language, PUZZLING is written as ZZPUGNIL and JIPITAPA is
written as IPITAPAJ, then what will SWIZZLED be written as in the same code?

Ans X1 ZIWSDEZL
# 2. ZIWDSELZ
# 3. ZIWSEDLZ
W 4 ZIWSDELZ
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Q.30 5 DO 2.8, 285 .D&‘.)b.b £67 2.8 (IEOIPC0L&A eooo 6 96 2OD
fateilovhal) @D)U"‘)d). TRIDOTT a)m“iséwg_o 2 oty AGOITCaA Jodd Rachio
ArRR00H?

A watch gains 5 seconds per minute and was set right at 6 AM. What would be the time
shown on the watch when the correct time is 2 PM?

Ans x migzylo 2.20
1.

2.20 PM

* mvgblo 2.30

2.

2.30 PM

x m5;ynlo 2.50

3.

2.50 PM

aotrEiao o 2.40

v 327

4.
2.40 PM

Q.31 &cbad b8 D sopdem 2017 owss” ard prdae TG ASfed) Sond e
DFBoticio 288087

‘Which of the following companies was bestowed the status of Maharatna company by the
government of India in September 2017?

Ans X1
€500 @0l TGS T S°8 TR0 (ONGC)

Oil and Natural Gas Corporation (ONGC)

¥ &3
26 65" dotdo 5°F 8D dSE (BPCL)
Bharat Petroleum Corporation Limited (BPCL)
28 errdd) D Rod.oir EE (SAIL)

X 3

Steel Authority of India Limited (SAIL)

< 4
DN0S GG) S 056 5T B0 (NTPC)

National Thermal Power Corporation (NTPC)

Q.32 DS aitanGnmn Hod egrods DHDFANEONM S8 e 0T, Do D0?
08 1914 5 DodeyBane” gagedod.

What is the name of the canal that connects the Pacific Ocean to the Atlantic Ocean? It
was commissioned in the year 1914.
Ans -
1 DY DAV TP
White Sea Canal

x> 265 5re s
Kiel Canal

BIEIPead” SPE 6

w3
Panama Canal

x4 20 10E SRee
Suez Canal
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Q33 & o) Aod PBELND B°I) RO JodS DADOC.

E. gextio — Ag
Select the INCORRECT match’s from the following.

A, Copper —Cu
B. Gold — Au

C. Mercury — Me
D. Platinum — Pt
E. Silver — Ag

Ans L A H0boin B

~
AandB

E oo
2

OnlyE

D, B &wdosn C
3.

D,Band C

C ora
4

Only C

Q.34 5 3rane adain 10 S ramne wmapie 2 €8, momien &3 d 35 S8 eom) ow.
DS IF 28 308 GoE'S 2108 Lo DO DOITEIT &) 6 OB D I e0d?

Two balls of steel having mass of 5 kg and 10 kg each possess equal kinetic energy.
‘Which ball is moving faster, if at all?

Ans X 1
10 $65°ra00) 2308 DS Do & HOIFEBRID) &

The 10 kg ball is moving faster.

Boco excrr 2,8 Dijo & HOIFEdOT) 0.
5 2.

Both the balls are moving at the same speed.

v
5 35" TR 2208 HE) D Defo & DOIFBD) &

The 5 kg ball is moving faster.
< 4

(1933 R0 DMTo 2 BEFGDE EOCLD.

Kinetic energy does not depend upon the speed of the body.

Q35
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ey 12t FEERDD G0, TESCD TEOd DB oS0, ST OB 14t
BErRODS® HHes0e5 Bl SPEAFREADD $DN0) O ocdeatof.

The was built by the Kakatiya kings of the 12" century which was rebuilt by the
Qutab Shahi dynasty in the 14" century.

Ans @m
x 1. T
Agra Fort
x 2 arocd Be

Mandu Fort

v ﬁﬁeﬁ"b{}c‘. e

Golconda Fort

x4 %“1‘:]‘) e

Fort Kochi

Q.36 28 ANALEFET HEDRAD dhng), Do DD Fmanen w8) 56 arasd Faan Sod
[elalite)) esqlaﬁ‘, aress Erasan gy Fee:

If each of the two equal angles of an isosceles triangle is twice the third angle, the measure
of the third angle is

Ans X1 45°
X 2. 90°
W 3 36°
X 4720

Q.37 Ay WP e5d OBOID BareD 9GNS’ S QId God. &7 BT A IDH?

Q0T s
L"-_\

—

2ETED) €550

ipweliEslies

A B C D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

L—

o

Dio|>les

Ans «1_5
X2 A
X 3D
X4C

Q.38
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808 DAoL B0 &57H0L A0 JotE odt.

[ 1] [e ]
A B e DB
Select the figure that does NOT belong in the following group.

A B C D
Ans XlA
v:D
X 3B
K 4C

Q39 3 Seorrl)y S80 0I08), TP otrdd?

Which cell organelle is called the Master of the Cell?

Ans
v SogiSo

Nucleus
Dotle) 5 0% R0
2.
Endoplasmic reticulum

, Sod=rodo

x

Nucleolus

2eS srod ol
Mitochondria

< 4

Q40 D3 DoeS” 370 Heos” VOJ'CDH JodE JoEol.

?

Select the option that will fit in the blank space in the given figure.

Ans

v

< 2
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<3

PN

Q41 & So& TOS” 208 00D %‘b@oé{q_‘) DIDC IO A&?

Which of the following is not a double displacement reaction?

Ans <. NaOH + HCI 2 NacCl + H,0

X 2 BaCl, + H,S0,~> BaS0, + 2HCl
% 3 CuSO, + H,S = CuS + H,S0,

Q42 DA seHatio A, RASCID 308 TS IB VOIHIG 5°?

‘Which of the following is NOT true for the reaction of Calcium with water?

Ans F 95y 5 BODOHOMT &otnodd
" DADCS B AHD

The reaction is less violent

B“Q{ﬁ_)ﬂ DOOTTCIL) DDGVNEBO

&2
Calcium starts floating

DRV D @E‘OEIEYP 0806
5 3.

Heat evolved is less

H2 ar0dned) Dendtaddd

X 4
H2 gas is evolved

Q43 DRriro™D HEred” DY o &Y DR Jocol?

Choose the word which is least like the other words in the group?
Ans [=Teb 12 ]
1.
Squirrel
=31

< 2

Crow

Q44

Vacancies and updates on one click
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FOND Do & Gzhere dI0g); Doafy Arded JeHER JownEod.

Select the option that represents the number of triangles in the given figure.

Ans X116
X< 214
vsa18
< 417

Q45 predies malTar R0aT{RPRHID &5°

AUB N Q) =
In the usual set notation,

AUBNC) =

Ans o 1 (AUB) n (AUC) =
X2 (AUB)UAUC) =
X3 (AUB) N (ANC) =
X4 (AN B)UMANC) =

Q.46 So0zrse8 %0 50 oSG TisjesTrDy SDH God. T 3"&)&50 8 otsol.

A convex lens has a focal length of 50 cm. Calculate its power.

Ans X'1.1D
<23D
< 324D
va2D

Q47 & dod aredeS” DO Desxgd 030, e Srarso?
A) 205° D0d0I NBETO
B) &5%5en andoiw oA

C) &5%fen S0boin Dos®

Which of the following are bad conductors of electricity?
A) Mica and Quartz

B) Metals and Rubber

C) Metals and Mica

Latest Sarkari Jobs, Govt Exam Results
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Ans B 0oty C aramn
1

'BandC{ml}r

A Soresdn
2.
A only

A 208050 C arrdan
3

'AandC{)nl}f

A 208050 B aramn
4

'AandBonl}f

2 sinf—cos@

Q.48
20E0% 3tanf=2 eso0d, Seoco—g O005), DD Sa‘n?bcé.

2 sinfd—cosf

If 3tan6=2, find the value of
Ans X1 ()
<2

v
< a

2cosl=sind

SN A

Q49 90 DRV VIO IV SETD HAODOE” ED0000:
During combustion of unsaturated compounds a is seen:

Ans 8 008y
XKoo
red flame

Hero avoky

blue flame
K}déu aoby

< 2

<3
clean flame
BICIDEY) a0e)

v 3
yellow flame

9032~ [1- -+ od- (13- ) aos, oo g o0

3

The reciprocal of the value of
s+ - (G-

2
¥ S
3

<21
<30
X a2

Ans

Q.51 '292‘350@ CHESLEW (OT70 getd (rogsaﬁ D & DE) DT AFSToHODNE

DadD?
Who coined the phrase *Survival of the Fittest'?

Ans
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aed &5 2woids
| Gregor Johann Mendel
?ﬂ“tﬁag ?u:l:);‘\'};}ﬁ
Herbert Spencer
o*0R c;‘ﬁ&%
X3 -
Charles Darwin
& 06 HDod Horar

De Har Gobind Khorana

< a

Q52 37 111 s0dcsw 148 TB0E), &2, 0T 0.

Find the LCM of 37, 111 and 148.
Ans X' 1.222
W2 444
< 3206
< 4. 424

Q.53 @oB) DRVE 5D DEBAD (IAF) 3565 03D Dot Soyeg FO aroBoing ISRO ard
DAY5 20001 2D R0 Jaw?

Identify the former ISRO chairman and space scientist who became the first Indian to be
inducted in the International Astron Federation (IAF) Hall of Fame.

Ans K}Gﬁﬁsﬁ e7e) DGR
<L
Parmeshwar Lal Saran
v &6 TOIR06) TFe)
2.
Udupi Ramachandra Rao

s, o).a)R). S0ER a0

A. S. Kiran Kumar

ROLIVED LD

O S
Subhramniyam Swamy

Q54 375 Cﬁngzj 56% :

56% of 375 is:
Ans X' 1.224
< 2.196
W2 210
< 4168

Q.55
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QgD DELDD) DeE0HVT HOModod O DY HELDY Mok D awhcine
S EorT mogbvoaazs‘a DPonosoct.
DD
ED) Lbyen Tiyen. 0y wern T .
snhoipen:
1. E‘.i’)i E.falye.u 25080,
2. By ey Obyen

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
Some chairs are desks. All benches are desks.

Conclusions:
1. Some desks are benches.
2. Some desks are chairs.

Ans 1 S 2 e9:000r000.
r
Either 1 or 2 follows
, S0A0) 1 APt e9:0005008.

' Only conclusion | follows

~<

Awfoa)) 2 ArGD 90000k,

~ Only conclusion 2 follows

X< 3

, 1 &08030 2 essndrow.
" Both 1 and 2 follow

Q56 350e5° 58%:
58% of 350 is:
Ans  of 1.203
< 2196
< 3. 217
< 4210

Q57 306 HAWEFoeS DoGD e3EAD JochEod.

A B Z D
Select the figure that does NOT belong in the following group.

AR [P
A B C D
Ans «LD
<2 A
<s3C
< 4B
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Q.58 Icce g, >0 D6 R DT rE ?assaua.a UL ooty §3¢5

Sorsedoty o ?

‘Who is the first Indian cricketer to have grabbed BCCI’s Polly Umrigar Award three
times?

Ans . T30 (5026

~<
Gautam Gambhir
, Do. DD 85
M. S. Dhoni
| Does S
Virat Kohli
DD Bocirubé

Sachin Tendulkar

X

v

4

Q.59 28 252 e SFesa (i P 11: 25 2D &5° DHBODDED TEDD artio aag),
Tezay) Joed?
When a wire 25.2 m long is divided in the ratio 11 : 25 the length of the longer piece is:

Ans 15.2 Hoeocd
~< L °

15.2m
7.7 Doexd

7.7m
17.5 Qo6

17.5m
18.4 dotadd

18.4m

5 2.

¥ &)

X 4

Q.60 . x & DREIES DoDBNTPDS 9% Faray HEE 5 DoDSVTOLH TR DD O, ©. ¥
© DeEE oSBT 7.5% FOry SEE 4 DodcnTros” TFod HES DAFIDW. X 1Y
A S,

T x invested at 9% simple interest per annum for 5 years yields the same interest as that on
T y invested at 7.5% simple interest per annum for 4 years. Find x : y.

Ans of1.2:3
< 2.45:30
/< 316:15

/< 48:9

Q61 &, ;boa;gueﬁ‘ DA 6 DY 2PAoDEICIEDA?

Which of these numbers is divisible by 6?
Ans X' 1. 56792
W' 2 45678
< 3. 34672
< 423456

Q.62 25 erod 2o D AR RErD oGt SIS B30T erdedio dus), 6l b S0 DEDGIE oo

On whech date Swachh Bharat Mission was started by P}
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Ans 2. e9Fed 2015
~< L =
2nd OCT 2015
x> 145 Ha0eab 2014
14th Nov 2014

259 eofead 2014
v e
nd OCT 2014
4, 14 Hedoedd 2015
14th WOV 2015

Q.63 & 800 9F) LA HEH0C: WOCIN BN VELIOS” DB VOT oD/ DB Tron
:Ogonox:md.
QPR CF0 G, CorD DD?
DD
1. Jeo &0 erd e DEDFW, JWED 0 THo €92 DEVFE SOOI B0 D
DE05Y) 9D e,
2. @Beni) D Den) 92 DeVJED, Hesy D DTy ©D DenFgrm, 8Dy D Fooan
239 Dengrtd BoIN Fean D DY 6 Henrd

Read the following question and decide which of the given statements is/are sufficient to
answer the question.

‘What is the colour of human blood?
Statements:

1. Blue is called pink, red is called orange and orange is called yellow.
2. White is called black, black is called green, green is called brown and brown is
called red.

Ans X1

) £ DIFTIDEEIS 1 2B 2 Tocsr DO EEow.

Both 1 and 2 together are sufficient to answer the given question.

5 2.

D) VD PATTFOHDDYEPDS 2 Drgo POTE0d @od 1 argo HOT .

2 alone is sufficient while 1 alone is not sufficient to answer the given question.
X 3.

09) 9 DATTADDETIE 1 GE 2 IF 2,560 28T B00d.

Either 1 or 2 is sufficient to answer the given question.

v 3

03) O DATTTIDDEPDS 1 &rgo PO 008 oNB 2 Argo OV,

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

Q.64 Totiad DESND DG D0 R0EIOGDNDY LT DOTED DEDDE ESt AL TN A ]
Do docnEod.

DB e SD0G 2 TrEROCE Dezdo:

Select the option that is related to the third term in the same way as the second term is
related to the first term.

Electricity : Galvanometer :: Atmospheric Pressure :

Ans N e85 D0ed (a6 )

Barometer
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P8 b (2oardso)
| Hydrometer
%;hffémﬂbamﬁ{dgﬁm Srnso)
5

p )

Sphygmomanometer

, Qa0 S0

Osmometer

Q.65

Ans

& Zob DEE 2.8 ‘(oo;‘.‘»@hdmé" 25 2008 DY LD DDA CAFHSE0E. LY

Do Do) Ded Jowd ?

By DebEY (dSranad’) Dy Roayg
1.5 4
2 5
2.4 8
3 5
3.2 2
3.4 1

The following table shows the gain in weight by 25 children in a year. What is the mean
value of gain in weight?

Gain in weight (in kg) No. of children
1.5 4
2 5
2.4 8
3 5
3.2 2
3.4 1

vi24
<232
<321
<419

Q.66 00t REDED A 2OID B 28 HFHD DO0OTT 32 00050 48 iotrnds® Do, H6 @80

Ans

2D D6 BEHBLD Pip € Do FH 64 o a9 Saniie. Froezoe’, &
ardr eﬂ:‘)‘l;a)ba) 2 A 0805w ) C BooeIcPoD. §'.;')g_ 1oL DT, 3o A
DOV EOOCID F50) B B00eca6. 200g0 e & Docerds 112 riotren

208289 6. 2 B ID) fioeen SOHEHE?

Two pipes A and B can fill an empty cistern in 32 and 48 hours, respectively. Pipe C can
drain the entire cistern in 64 hours when no other pipe is in operation. Initially, when the
cistern was empty Pipe A and Pipe C were turned on. After a few hours, Pipe A was
turned off and Pipe B was turned on instantly. In all it took 112 hours to fill the cistern.
For how many hours was Pipe B turned on?

< 184
X277
< 370
v 72
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Q.67 D&3e5° HiEd 200l e06G DD DM Bt a0 DO?
Which of the following methods will separate water from muddy water?

Ans B350 (3T809).
" nysta]lisation
) R0 (ERTOD).
Distillation
. DT (T0°ED (F:00800 DHRS) .
Separating funnel

v DT (De00D)
Filtration

Q.68 0%y 2omd 1 &0l G5 3365 — 0 0D @S Te9DD DPoED SUDD woejg“@(ﬁ) 4365 esét D
22085 8306 dIns); ees ST

The book *Six Machine: I Don’t Like Cricket — I Love It” is the autobiography of which
Jamaican cricketer who plays international cricket for the West Indies?

Ans * 1 20265 HOD
Sunil Narine
v 30 e
2.
Chris Gayle

e50¢5T RS

Andre Russell

=00 2035 epa
Darren Michael Bravo

&3

<4

Q.69 Hoerer &5 g8 R TFetvw) B TrCaBHoS™D D TRed” DOLIFosEBI0A?

The annual buffalo race called Kambala is a festival celebrated in which Indian state?
Ans ER oty o
<1
Odisha
soetos
]

Y &3
Karnataka

[=lel=]

Kerala
DoaIPe)
Punjab

X 3.

~< 4.

Q.70 28 RawrEros™d 5 wdds) Dopgo D 15t 0doin DHwrired (v Do
Dopgo gy, ity 17 T @agetod. 3Dy Domdjen DD Ddirfony, HNdS
Romger e 18.25. e Hrurired® &) Dwdo Lonjrn D) ?

The mean of the 5 smallest numbers from a group is 15 while the mean of all the numbers

of the group taken together is 17. If the mean of the numbers leaving the smallest five out
is 18.25, how many numbers were there in the group in all?

Ans X112
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X314
X 48

Q.71 VWY9PONISFSLUDTG61A) S0 g eseroorr, Sob DAde” o%bhﬁ"m DY
DocvFod.

VN, PF, 5U,

On the basis of the sequence VWY9PONISFSLUDTG61AT, select the missing term from
the following series.

VN,PF,5U,

Ans X' 1 1J6
X2 LG
KT
v 2 UG

Q.72 & 306 TvOS° LTTFOTD .Dd)g QOTErDS GO 50 D67

Which of the following is not an example of a biomass energy source?

Ans €559) a0¢S
r 0

Cow dung

e9ea) 33
v
Atomic energy
N1
X 3. b
Wood

BT
Ethanol

~< 4.

Q.73 Qdy® 5@ dg), 7P HBF0S” PO PO 0D DY Jococt.

?

Select the option that will correctly fit in the blank space of the given figure.

Ans

< 2.
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Q.74 & 308 TOS® D DELIL 2Dy Tor Sy ?
DIOBeD:

A) 28 DOODE I Mol HES SBTLRPNED, SR GICHD BoirIOe DO

0%1)@)0& S0d0in acard DAaod.

B) eseS"be> sy, GFoDE DIOO[ED BT DGE I0E), a0eS* SobHd
mé&@bm EDTEO0D.

‘Which of the following statements is/are true or false?

Statements:

A) On moving from left to right in a period, the chemical reactivity of elements first
decreases and then increases.

B) The chemical reactivity of non-metals increases on going down in a group of the
periodic table.

Ans 28ex5en A S0daoin B @@Dw
<1
Statements A and B are false
DL A 20B0sw B Socir 2T
<2
Statements A and B are true
v QS&)K)A&:E@):],SWB@‘QB
3.
Statement A is true, but B is false

DELD B i)y, ST A 655))
s A )
Statement B is true, but A is false

Q75 306 DATEFIS DD LAY JowEol.

V[ W |MAWV
A B C D
Select the figure that does NOT belong in the following group.

V[ WMWY
D

A B C
Ans X' 1 B

vacC

K3 A
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